Past Question: Refractive Index

The diagram shows a cube of glass. A ray of light, incident at the centre of a face of the cube, at an angle of incidence ( goes on to meet another face at an angle of incidence of 50°, as shown

 (critical angle at the glass-air boundary = 45°)
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Draw on the diagram the continuation of the path of the ray, showing it passing through the glassand out into the air. (3 marks)

(b) Show that the refractive index of the glass is 1.41.
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(2 marks)

(c) Calculate the angle of incidence,(
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